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MAC 1140 Exam 4
You must provide complete answers to the following questions.  No credit will be given to correct answers without supporting work.  Each question is worth 4 points.  You may use your class notes, class textbook, and instructor.  No other sources are permitted.  This exam is due at the start of the final exam.  Good luck.

1.  Find an equation for the parabola that has its vertex at the origin and whose directrix has y-intercept 
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2.  Find the vertices, foci, and eccentricity of the ellipse 
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.  Determine the lengths of the major and minor axes, and sketch the graph.

3.  Find an equation for the hyperbola that has vertices 
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4.  Find an equation for the conic whose graph is shown.
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5.  Determine whether 
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 represents an ellipse, a parabola, or a hyperbola.  Find the vertex (or vertices) and the focus (or foci).
6.  Determine whether 
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 represents an ellipse, a parabola, or a hyperbola.  Find the vertex (or vertices) and the focus (or foci).

7.  Find the nth term of a sequence whose first several terms are 
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8.  Determine the common difference, the fifth term, the nth term, and the 100th term of the arithmetic sequence 
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9.  The 20th term of an arithmetic sequence is 101, and the common difference is 3.  Find a formula for the nth term.
10.  Determine whether 
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 is geometric.  If it is geometric, find the common ratio.
11.  The second and the fifth terms of a geometric sequence are 10 and 1250, respectively.  Is 31,250 a term of this sequence?  If so, which term is it?
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